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= n/s 16560 m/s 1640646 (h) |[M)/m® | (mm) | (cm) | (cm)
1] 3.6] 63] 04] 839 98.1]59.6| 7.4 |WNW |14.7 [ WNW | WNW 0] 242 25| — | —
21 1.0 3.7[-1.7] 73.6] 93.3[46.3] 8. 1|WwNW [17.2|WNW | WNW 1.2 4.94] 4.5 2| —
31 0.2 19[-222] 63.4] 89.5[44.2] 7.9 |WNW |16.8 | WNW | WNW 2.7 10.48] 0.5 3] —
41 0.7 53[-28] 82.1] 99.5/44.5| 7.0|SSW [14.9[SSW [#Hm | 23| 821| 19.5| 16| —
51 -Lo| 07]-2.3] 658 95.4[46.0] 7.4 WNW [13.5WNW | NW 0.4] 3.23] 40] 19] 10
6 09| 28[-1.6] 54.5] 79.7[43.6| 54| W [1L 0 |WSW | W 6.9 14.77] — 15 9
71 25| 58[-0.9] 73.2] 95.8|54.3| 5.0 W 8.9 W SE 23] 9.85| — 10 6
80 43 70| 01| 79.8[100.0[59.7] 9.8| SE |155| SW [SSE 1.8 5.58] 21.5 7] —
9 2.4 40] 06] 952/100.0]70.2] 7.9|SSE [13.0| W |SSE 0] 3.56] 26.5] — | —
10 15| 3.0[-0.8] 80.4[100.0]58.2] 5. 4|WNW [10.1 |WNW | W 24| 9.35] 1.0 2] -
B)&EH 16.1] 40.5 F11.2 | 751.9 71.3 20.0] 72.39] 85.0
BFEs Le| 41[-1.1] 75.2 7.1 7. 24
1] 271 80]-20] 76.2] 99.0]41.6] 6.4 |WNH |14.8 | WSW | SSW 6.1 13.90] 7.5 — | —
121 0.7 1.9]-1.3] 58.8| 86.7[47.6| 8.8 |WNH |16.5| NW | WNW 0.9 6.24] — - | -
130 27| 84|-1.1| 68.9] 94.6[40.8| 4.1|SSE | 5.5|SSE |SSE 8.6 17.42| — 1] -
4] 6.0 1L.0[-1.o] 72.8] 93.0/49.4| 7.3|SSE |12.6|SSW | S 53] 11,09 — 1] -
5] 46| 10.8| 1.4 87.5] 98.5[50.8] 3.7|ENE | 7.0| NW |SSE 0.3] 5.33] 19.0 1] -
16 4.7 770 20| 67.8] 96.5[44.8] 5 9|SSE |10.6 | WNW | WNW 59 1487 05| — | =
17 6.4 13.1] 2.3] 91.5[100.0|7L.6] 7.0 |WNK |16.5|WNW | SE 0] 2.58] 95| — | -
18] 3.3 80[-1.3] 69.5| 94.0[41.8] 9.0 |WNW |18.8 | WNW | WNW 0.1] 357 25 1] -
19 1.9 3.3 02| 59.0] 89.1[37.5] 8 0[WNW |[16.9] W | WNW 24] 6.33] 05] — | —
200 24| 6.5[-1.8| 56.6| 88.9[43.2| 56 |WNW |10.4 | NW | WNW 8.2 15.42] — - | -
fAaH 35.4] 78.7]-2.6] 708.6 65. 8 37.8] 96.75| 39.5
B 3.5 7.91-0.3] 70.9 6. 6 9,68
21| 5.6 14.2]-2.8| 650 92.0[29.9| 7.5| SE |11.9| SE |SSE 9.6 | 18.58| — - | -
22 7.81 10.5] 3.4 90.1[100.0]62.1] 10.9|SSE |15.6 [ SSE | WNW 0] 2771 55| — | —
23] 14| 41[-0.2] 70.97] 93.7[50.3 [ 9.8 |WNW [21.3 | WNW [ WNW 23] 876 LO| — | —
241 3.3 7.8[-0.0| 66.5] 86.1[37.3] 3.9| SE | 7.2 |[ESE | SE 841 19.21] — - | -
250 47| 6.9 2.4| 92.3]100.0[75.2] 5.7 |WNW |10.3[WNW | W 0] 3.54] 40| — | -
26 6.1| 85| 2.2 581 94.3[40.4] 7.6 W |16.9|WNW | W 120 19.79]| — - | =
27| 4.3] 10.5]-1.7] 63.3] 9..5[29.5] 2.7 N 59 N NW 9.9] 18.45| — - | =
28] 4.6 81 1.2] 59.5] 94.5[3L.7] 4.6 |WNW | 87 [NNW | NW 9.4 20.07] 05| — | —
29 50| 11.5]-1.0| 61.6] 89.6[30.5] 4.2[SSE | 57| NW [SSE | 11.5] 21.94| — - | -
30| 7.9 20.0[-0.6] 84.8] 95.5[56.7] 7.7[SSW [16.1] W NW 0.4 579 45| — | -
31 88 120 6.4 83.5] 945[7L8] 87| W [21.8[ W |WNW 0] 29| 60] — | —
B4sH 59.51114.1] 9.3 795.6 73.3 63.51141.86 | 21.5
BREY 5.4 104 0.8 72.3 6.7 12. 90
H&5H 1110 [233.3 [ -4.5 | 2256. 1 210. 4 121.3 | 311.00 | 146. 0
H¥Y 3.6 7.5]-0.1] 72.8 6.8 10. 03
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H m/s 16547 m/s 16450640 (h) |MJ/m® | (mm) | (cm) | (cm)
1] 49 66| 3.3] 62.5] 91.1[44.3] 5.9 |WNW |11.8 | WNW | WNW 55| 1250 1.0 — | —
2] 2.9 46] 0.8 58.2] 74.7[43.4] 7.6 |WNW [18.0] W |W\W 5.4 11L.59] — | — | —
3 1.9] 3.5[-0.5| 72.2] 86.0[52.4] 8. 0[wNk |15.1] W W 2.4 886| 25| — | —
4] 3.2 59] 09| 76.8] 98.6[554| T.1[WNW [12.5] W W 53] 12.38] 7.5 1] —
50 46| 7.1] 1.2] 63.4] 92.7[36.2] 8.1 |WNW |15.5|WSW | WNW 3.5/ 9.94] Lo|] — | —
6| 7.2] 93| 41| 49.7] 745/33.5] 9.7[ W [20.8] W W 8.3 16.10] Lo| — | —
71 6.3 1.2 1.6 78.0| 96.4|51.5] 4.6] SE | 7.5] SE [SSE 1.5 7.32] 05] — | =
8| 6.9 10.8] 42| 83.2] 985[54.9] 7.0 W |12.6] W W 4101023 — | = | =
9] 7.2 11.3] 3.0 70.3]| 92.6[39.5| 4.6 |WNW |10.0 | WSW [ SSE 7.9] 1580 5.0] — | — |
10 6.2 9.4 27| 66.0] 90.4[37.7] 5.3 [WNW [10.4 [WNW [WNW | 11.1] 18.49] 6.0 — | —

G14sH 51.3] 79.7[21.3 ] 680.3 67.9 55.0]123.21]24.5

By 5.1] 80| 21| 68.0 6. 8 12.32

11] 35| 70| 1.4] 837] 9.2]60.6] 58] SE | 9.9/wNW | W 5.2] 12.94] 1.5 — | —
12] 2.8 54] 0.6 79.9[100.05L.5] 7.7|WNW |13.2 [WNW | NW 26| 831] 55| — | —
13| 57| 80| 23| 56.8] 90.942.1] 9.3 |wN |15 1 |wNw [www | 10.0] 17.19] Lo| — | —
4] 85| 1221 40| 70.8] 95.8[55.8] 7.8 w [15.8] W W 8.5 10.22]| 9.0 — | —
15] 8.4 16.7] 0.9] 63.5| 94.9]23.2] 6.6 |wnw [13.3]wNw |WNK | 11.7] 23.05] — | — | —
6] 80 13.1] 3.1 72.7| 97.7[47.3] 12.4] E [26.4| E |ESE 0| 5.37]100] — | —
17| 93] 13.8] 5.3 83.4[100.0]50.6] 10.8| SE |14.2| SE | SE 5.2 1462 — | — | —
18] 87 10.8] 6.0 72.3] 92.8[45.8] 9.2] SE [19.6] S SE 0.7] 502]130] — | —
19] 65| 86| 3.4 84.3] 98.3]66.0] 7.6 |WNH |19.5] W W 2.3 1L19] 1.0 = | —
200 4.8 7.9 20| 881 958772 5.7 |WNW [11.3WNW | W\NW 1.6 93| 45] — | —

B)AsH 66.2]103.4[29.0] 755.5 82.9 47.81117.27]57.5

BFE 6.6 10.3] 2.9] 75.6 8.3 11.73

21 40| 57 0.8] 79.0] 93.1[63.8] 6.1 |WNW WNW | WNW 0| 432] 1L5] — | —
22 5.6 13.1[-0.2] 70.9] 97.2/39.0] 4.8 [wNWw | 8 L |WNW | NW | 12.0] 2453 — | — | —
23] 10.3] 19.8] 0.3] 62.0] 91.924.7] 6.4 [wnw [13.4] w [ww | 11.3] 2254 — | — | — |
24 12.4] 21.8] 3.0] 60.3] 90.6[24.2] 59| W 8.9 | WNW | WNW 9.9 22.81| — —
25| 13.7] 24.2] 46| 60.8] 88.1[30.3] 3.8|WNW | 6.1 |WNW | N 1] 2217 = | = | — |
26| 13.1] 20.9] 5.4 67.2[ 91.2[38.4] 4.3|WwNW | 6.4 NW | NW 5.4] 1652 — | — | — |
27 13.4] 21.9] 7.2 76.1] 94.9044.6| 51| NWw [10.3[wNWw | NW | 10.3] 21.47] — | = | —
28] 11.3] 18.7] 6.8] 86.3] 95.9[49.4] 4.3] S 8.3] S NW 6.9 1629 — | — | —
29| 15.1] 25.7] 3.3] 60.5]100.0[14.8] 6.6 W [12.8] W NW | 10.9] 2190 — | — | —
30| 166 26.4] 9.0| 585 86.8[26.5| 56| SE | 7.8 |SSE | SE 3.5 1637 — | — | —

E)&at 115.5 [198.2 [40.2 | 681.6 52.9 81.3]187.92] L5

B 116 | 19.8 ] 4.0 68.2 5.3 18.79 ]

H&5H 233.0 ] 381.3190.5 | 2117. 4 203. 7 184.1] 428.4]83.5 ]

H¥ 7.8] 12.7] 3.0 70.6 6.8 14.28 ]
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H m/s 164500 m/s 166716407 (h) | MJ/m’ | (mm) | (cm) | (cm)
1] 15.6] 22.3] 90| 71.5] 95.6[46.7] 9.0 SE [12.0] SE | SE 3.9] 13.60| 35| — | —
20 17,4 246 1222 77.1] 97.1]56.2] 9.1| SE [13.6 |SSE | SE 6.4 18.16| 1.0 — | —
3| 144 17.7] 10.5| 58.2 83.639.5] 7.7 [WSW |20.4 | WSW | W 1.9 24.35] 0.5] — | —
4] 13.8| 21.6| 6.3| 60.6 88.1[26.9] 5.2 |[WNW [ 84| NW | NW 55| 18.38| — — | =
50 920 152 71| 843 93.9|5L.1] 7.4[ S |11.6|SSE |SSE 0] 260 2.0 — | =
6 7.7 9.7| 63| 89.0] 93.2[82.4] T.2(WNW [12.7|WNW | W 0.0 25| 70| — | -
71 82| 15| 60| 79.0] 92.0/68.2| 51 NW | 9.6 NW | W 6.7] 17.84| — — | =
8| 12.1] 2004 29| 69.1] 95.7[39.3| 7.4|SSE [11.1[SSE | E 9.3] 23.75| — N
9 1.4 13.9] 9.0| 84.1] 98.2]64.5] 11.4| SE |155]|SSE | SE 0] 2.35] 1.0 — | - |
10 10.0] 12.6| 82| 850 95.4[72.7| 6.7 |WNW |[12.8 | W | WNW 0.2] 332 85 — | -
B)&2H 119.8 [ 169.5 | 77.5| 757.9 76. 2 43.9126.87 | 74.5 |
B 12.0] 17.0] 7.8] 75.8 7.6 12. 69 |
1] 9.2] 10.9] 83| 82.6] 97.9[70.2| 57 |WN [10.7 [ WNW | WNW 0] 7.61] 05| — | =
12 9.6] 125| 6.8| 86.5[100.0/69.1| 50 |WW | 9.2 W | W 3.9 12.67] 50| — | —
13 7.6 9.9 41| 82.4] 94.4]66.0| 3.8 |WNW | 6.5 N¥ | W\W L7] 1043] L0 — | —
4] 89] 13.4] 40| 78.8] 93.0[6L.8] 4 L[WNWW | 7.1 [WNW | NW 6.5| 18.75| — — | -
15] 10.5] 16.6] 3.3] 780 97.1/39.9] 7.0 W [17.1] W |WNW 9.5| 16.43] — - | =
16 13.5] 20.8| 9.3 77.1] 96.6/32.8] 7.0 W [12.3| W | NW 4.8 17.271] — —_
17] 11.4] 154 73] 76.3] 94.3163.3] 3.9 [WNW | 7.1 | NK | NW 9.3] 23.47] — - [ =
18] 13.3] 21.6| 57| 70.2] 96.6/39.0] 29| E [ 59| NE |[NNE | 1L5| 24.54| — - | -
19] 14.4] 21.5] 6.8] 757 96.1/50.6] 3.5 |WNW | 5.5| NK [WNW | 11.8] 22.63 | — - | -
20| 16.4| 223 10.2| 80.7| 97.8/60.8| 54| SE | 7.6 |SSE |SSE 0.3] 13.14] — - | -
B&5H 114.8 [ 164.9 | 65.8 | 788.3 48. 3 59.3 ] 166.94| 6.5
B 11.5] 16.5] 6.6 78.8 4.8 16. 69
21] 182 24.0] 14.0] 751 94.8[561.1| 5.2| SE | 6.7 |ESE | SE L4] 13.04] — - | -
20 16.7] 19.6| 13.8| 828 97.0[63.3| 5.6 |WNW [11.2 | WSW [SSE 0] 808] 75| — | -
23] 13.3] 15.1] 12.0] 86.8| 96.1[72.8| 6.1 |WNW |11.5] W | WNW L1] 7.06] 1L5] — | -
24| 12.8| 14.5| 11.6| 86.0| 958 |76.2| 4.0 |WNW | 8.2 | WNW | WNW 0.9 7.71] 05| — | -
25 13.5] 17.3] 10.4| 86.4| 97.7[73.8] 3.0 [WNW | 6.7 ] NW |WNW 50| 15.83] — - | -
26| 17.9] 27.0] 8.8| 69.6| 99.1[34.7| 5.2 |WNW | 8.6 |WNW |[WNW | 10.8| 23.18| — - | -
27 18.4| 26.5| 12.7] 70.9] 90.3[39.3| 4.2 |WNW | 6.9 NW | N¥ | 11.3| 23.37| — - | -
28| 177 24.6 [ 1.3 78.0] 96.8[57.1| 3.4 [WNW | 5.7 [WNW | NW | 11.2] 24.35| — - | -
29| 19.2] 276 12.8] 75.3[100.0[42.0] 3.1 [WNW | 5.8 |WNW | W L7 24.66] — - | -
30| 19.7] 29.0] 13.2] 74.1] 96.4[357] 31| N | 57| N |N 10.9] 24.34] — - | -
31 17.8] 24.5| 13.0] 79.3] 96.3[4L. 0| 5.9 [WNW [10.1 [WNW | WNW 7.9 20.38] 2.5] — | —
B1A5H 185.2 [ 249.7 [ 133.6 | 864.3 48. 8 72,2 1192.00] 22.0
B 16.8 | 22.7| 12.1] 78.6 4.4 17. 45
A5t 419.8 [ 584.1[276.9 [ 2410.5 173.3 175. 4 | 485.81 [ 103.0
SEH 13.5] 18.8] 8.9] 77.8 5.6 11.0 | 15.67
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F /s 167567 m/s 166716/ (h) |MI/m’ | (mm) | (cm) | (cm)
1] 159 20.2| 10.7 ] 71.3| 95.7/36.8| 4.6 |WNW | 7.0 |WNW |WNW | 10.4| 26.16| — - | =
2] 17.6 | 25.8| 81| 67.2] 94.1/34.4] 3.1[WW | 5.2| E NW | 10.4] 23.33] — - | =
31 2.9 2.1 15.1] 72.2] 91.7/56.5| 6.4| S |1L.1| SW | S 0.5 13.45] 9.0 — | =
4] 18.4| 22.5] 13.2] 76.7] 98.0[48.7| 6.0 |WNW |12.8| S |wW\WW 7.3] 16,04 7.0 — | =
5| 153 18.4| 12.1| 68.1| 88.8/53.5| 6.2 |WNW |10.6 |WNW |WNW | 11.3| 20.96 | — - | =
6] 15.4| 20.4| 9.4 74.8] 959 |55.2] 42| SE | 6.8 |NNW |NNW | 13.1| 26.89 | — - | =
7] 18.7] 26.1] 10.2] 70.5] 96.3|46.1| 3.4 |ENE | 6.7 | NE | W 7.6] 20.84] — - | =
8)20.2| 27.0 | 15.3 ]| 73.0] 90.5[52.5] 3.7| NE | 7.1| NE | W 2.1] 16.90| — - | =
9] 20.4| 27.1| 148 75.4| 94.7]47.3] 3.1| SE | 6.0 |NNW |NNW | 116 24.34| — - | =
10| 20.2| 27.3| 15.4| 76.2 | 95.5[51.2| 4.0 |WNW | 6.4 | WNW | WNW 22| 1416 | — - [ =

B1A5H 184.0 [ 241.9 [ 124.3 [ 725. 4 44,7 76.5 ] 203.07 | 16.0

BPFE 18.4 ] 24.2] 12.4 72.5 4,5 20.31

11] 18.3] 19.9 | 16.6] 93.4[100.0]79.5| 3.3|SSW | 6.4 |SSW | E 0] 400] 11.0] — | =
12 17.1] 187 14.6| 86.2| 94.6 [77.3| 5.1 |WNW | 9.9 W |WNW 2.4 11.28] 15| — | =
13] 18.2| 24.2 11.7] 8L.2] 97.3[59.9| 3.7/SSE | 6.4 N NW | 13.2] 27.04| — - | =
14| 22.6 | 31.6| 14.4] 76.9] 98.4 [47.6| 4.5 |WNW | 9.7 | NNW | WNW 8.1] 22.35] 0.5| — | —
15| 25| 251 18. 7] 9L.1| 97.9[75.8| 5.2 |WNW |10.2| W | WNW 0.3] 1.53] 22.0] — | =
16| 19.1] 20.7| 17.0[ 91.4 | 98.7[78.7| 4.6 |WNW | 82| W | WNW 0] 7.00] — - | -
17] 20.1| 24.8| 17.1] 93.0] 99.7[76.4| 3.1| SE | 5.0 |ESE | SE 0.2] 7.55] 19.0] — | =
18| 21.4] 254 19.0] 91.91100.0[76.8| 7.1| W |14.7| W |ESE 0] 7.13] 4.5 — | =
19| 17.5] 19.7) 15.6| 855 98.4|70.5| 7.9| W |20.5 | WSW | W 0.1] 6.50] 27.5| — | =
20 17.6 | 21.6| 15.1[ 8L.6 | 97.7[59.7| 6.0 |WNW | 14.0 | WSW | Ww 6.1] 21.25] 1.0] — | =

BJ&ET 193.4 [ 231.7[159.8 | 872. 2 50. 5 30.4 [ 115.63 | 124.0

BPEY 19.3 ] 23.2] 16.0 | 87.2 5.1 11. 56

21| 17.2| 18.2 | 15.0| 96.3 |100.0[86.9| 3.7 |SSE | 5.0 | S |Zg, 0] 2.89] 95] = | =
22 19.2| 21.3] 17.9] 98.6[100.0|94.2| 25| E 3.7 NE | NW 0] 419] 25| — [ =
23] 21.1] 259 18.1] 88.9] 99.6 [68.6| 3.0 |WNW | 52 | WNW | NW 0.4] 13.35 | — - [ =
24| 21.7] 249 19.2| 88.7| 98.5[73.2| 3.2(SSE | 4.7 |ESE |ESE 0] 10.73] 25| = | =
26| 19.7| 21.2| 18.4] 958 99.7[87.6| 3.5 |WNW | 59 | WNW | WNW 0] 439] 1.0 = | =
26| 19.2| 22.0| 17.6] 91.8| 97.5[82.5| 4.2 |WNW | 6.9 |WNW | NW LO[ 15.40 | — - | =
27 20.7| 274 16.4] 88.2 | 99.568.9| 55 |WNW | 9.0 |WNW | \W 7.6 23.06| — - | =
28| 20.5| 24.5| 17.7] 89.2| 98.7[74.0 5.5 |WNW |19.9 | WSW | WNW 0.2 3.55] 17.0] — | =
29| 18.3| 2.4 17.1( 90.0] 99.1]69.3] 60| W |142| S |wWWw 3.4] 13.14] 150 — | =
30| 20.5| 245 16.9| 84.8[100.0[71.2| 54| SE | 9.8 |SSW | SSW L2] 6.64] 90| — | =

B)&EH 198.1 [ 231.3 [174. 3 [912.3 42.5 13.8] 97.34| 66.5

P 19.8 ] 231 17.4 | 91.2 4.3 9.73

A&zt 575.5 | 704.9 | 458. 4 509, 9 137.7 120. 7 | 416. 04 | 206. 5

A 19.2] 23.5( 15.3 | 83.7 4.6 13. 87
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H m/s 1656 m/s [16A6646] (h) |MJ/m® | (mm) | (cm) | (cm)
1] 22.8] 27.8] 17.4] 81.3| 97.1[62.7] 3.6| W 6.2 W |ESE 23] 16.94| — — | -
21 23.6] 29.7] 17.9| 80.6] 97.3/58.8| 6.0 |WNW | 8.9 W | E 10.3] 23.09| — R [
; 31 19.5] 21.4] 17.6 | 95.5] 99.5/88.4| 5.2 |WNW |10.6 |WNW | NW 0] 2.48] 365.5] — | =
; 41173 19.8] 14.5] 93.0[100.0]77.1] 3.4 |WNW | 53 [WNW | NW 0.0] 7.60] 35| — | -
5] 18.7] 23.2] 13.3] 9L.7/100.0]74.5] 7.5|SSW |14.8 | SSW |ESE 0.1] 607] 12.0] — | —
6| 17.8 ] 22.1] 16.5] 93.9] 99.7/75.9| 8.0 |SSW |20.0 | SSH | WNW 0| 562] 2.5 — | —
71 20.5] 25.3] 15.8] 78.4] 98.8/59.0| 6.8| SE |11.5| SE | SE 48] 20,94 10| — | —
81 19.7] 22.0] 16.7] 78.2] 92.8/67.7] 55| SE | 9.0 |[ENE | E 0| 7.78] — — | =
9] 2.4 27.4] 16.4] 82.4] 97.4|64.3] 3.2 |WNW | 5.9 |WNH | WNW 0.9] 16.34]| — — | -

' 10] 22.4] 27.5| 17.6 | 83.2] 99.4/63.1] 6.4] SE | 9.8 |[ENE | ENE 0.4] 13.11] = — | - |
BJ&aH 203.7 | 246.2 [ 163.7 | 858.2 55. 6 18.81119.97] 73.5 \
GRS 20.4 | 24.6 | 16.4] 85.8 5.6 12. 00 |

1] 21.4] 25.6] 18.1] 825 96.6/65.7] 61| W |[1L3| W W 9.4 24,24 — - | - \
12] 19.4] 21.8] 18.3] 88.0] 92.6/80.1| 4.5 |WNW | 8.0 | WNW | VWNW 0.0] 10.78] — - | - |
13] 17.5] 19.1] 16.2] 81.4] 95.1/57.6 | 3.0 |WNW | 6.2 |NNW | W 9.2 | 23.85| — - | =
14] 21.4] 23.9] 18.4] 91.8] 99.0[75.1| 3.2|SSE | 42 |SSE | SE 0] 7.35] 7.0] = | =
5] 23.2] 26.6] 20.5| 94.1] 99.9/84.1| 40 |WNW |12.0 |WNW | E 0] 9.95] 33.0] — | —

; 6] 26.4] 32.0] 22.3] 87.8[100.0/65.2| 2.4 |WNW | 4.0 | NNW |SSE 7.3] 20,71 — - | -

17] 25.1] 27.8] 235 89.2] 96.7[73.3] 3.9 NW | 9.6 | WSW |SSW 0] 300] 340 — | =

i 18] 24.0] 26.8] 21.9| 90.8] 97.1|74.1| 4.8 |WW | 88| W NW 0.7] 855 55| — | —

19] 2471 30.0] 20.8| 85.2]100.0|65.0] 2.6 |WNW | 4.9 |WNW |WNW-| 12.5] 25.70| — N
20 26.3] 33.7] 19.2| 79.3]100.052.8| 2.1 | NE | 47| NE | N 14.0 | 26.48 | — - | -

f1AEH 229.4 1267.3 1199.2 | 870.1 36. 6 53.1160.61] 79.5

B 22,91 26.7] 19.9] 87.0 3.7 16. 06
211 24.8 ] 29.4| 20.4] 86.9] 97.0|74.0| 4.3 |WNW | 6.4 | WNW | WNW 2.2 ] 18.52] — - | -
221 25.3] 29.2| 22.1| 86.4] 96.9/70.4| 4.2 |WNW | 7.4| NN | NW 40 1771 2.0 — | =
23] 23.4] 27.8] 20.4] 90.2] 97.6[75.7] 3.1| E 5.9 |NNW | N 2.6 11.84] 22.5] — | —
241 24.4] 29.9] 20.7| 856 98.1(62.7| 6.2 |WNW | 9.4 |WNW |WNW | 10.9| 21.83| — . -
25| 258 32.7] 19.1] 80.4| 96.1/56.3] 3.6 |WSW | 9.9 |WSW |SSE 9.5] 20.29| - — | -
26 27.0( 33.0 21.3| 81.5] 95.7/66.0| 6.0 |WNW | 8.9 |WNW |WNW 8.8 20,04 — - | =
271 26.4| 315 22.7] 8.2 96.7/66.9| 3.7 |WNW | 6.2 |WNW | NW 2.8 ] 15.28] — - | =
281 26.7| 31.3| 22.4| 83.0| 96.6/66.0| 4.9 |WNW | 80 |WNN | NW 53] 18.39] — - | -
29| 27.0] 32.3| 23.2| 8L.5| 94.4[60.7| 3.9 NW | 81| NW | NW | 14.6| 20.89| — — | =
30 26.8] 31.0| 22.7] 819 95.7(64.9] 43| S 7.9] S | SSW 0.5] 9.88] — - | =
31| 27.4] 33.1] 22.0] 789 95.7/59.7| 5.3 |WNW | 9.3 |WNW | WNW 9.3] 21.37| — - | -

EI&aH 285.0 [ 341.2 [ 237.0 | 9215 49,5 70.5 | 196.10 | 24.5

GEY 25.9] 310 21.5] 83.8 4.5 17.83

H&2H 718.1 | 854.7 [ 599.9 | 2649. 8 141.7 142.4 | 476.68 | 177.5

HEy 23.2 ] 2760 19.4] 85.5 4.6 15. 38
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=i m/s 16561 n/s 16506064567 (h) |MI/m* | (mm) | (cm) | (cm)
1] 26.3] 31.6] 23.5] 85.0] 954|611 4.6|WNW | 86 |WNK | WNW 3.6 15.44| — - | -
2] 241 27.8] 2.5 83.7] 93.2|7L4| 3.8 |WNW | 7.4 |WNW | WNW 4.7] 1376 — - | -
3] 24.7] 29.7] 20.9| 83.1] 95.4[70.9] 3.3[wNw | 5.9 [WNW | NW | 12.1] 22.09| — - | =
4] 25.5] 31.6] 19.5| 80.0 95.9[55.9| 4.6 |WSW |10.1[SSW | S 9.8 18.07] 80| — | —
5] 22.3] 25.1] 17.3] 79.5] 93.7/65.0] 5.4 |WNW | 8.4 |WNW |WNW | 8.0] 20.23| — - | =
6| 2.9 29.7] 14.5| 76.4] 95.7[49.9] 4.3 |wNw | 7.1 [WNW |WNW | 13.7| 24.42| — - | =
71 23.1] 30.3] 15.7| 73.0] 95.8[521] S T7|ENE | 9.2 E | E 13.3] 24.35| — - | =
81 23.2] 29.6] 16.0 69.2| 85.9[52.7| 6.3[ENE | 9.2| E |ESE 9.6 21.36| — - | =
9] 25.0 32.1] 19.0| 73.4| 92.6[52.4] 4. 9|w\Ww | 7.4 |WNW | SE 9.3] 2257 — - | =
10] 25.5] 31.0] 19.5] 72.4] 93.2[53.7] 6.9|SSE | 9.9[SSE | SE | 12.4] 23.14| — - | =
GBS 241.6 [ 298.5 [ 188.4 | 775.7 49. 8 96.5]205.43] 8.0
G 24.2] 29.9] 18.8] 71.6 5.0 20. 54
11] 25.6 ] 31.5] 19.4] 72.3] 91.5]5L2]| 59| E 8.6 E SE | 13.5] 23.26| — - | =
12] 26.3] 334 19.3] 74.0| 9L.6|5L7] 4.2 [wWNW | 6.8 [WNW [WNW | 12.1] 23.26| — - | =
13] 26.6] 33.6| 21.0] 79.7] 95.4[54.0] 3.9 |WNW | 6.8 |WNW |WNW 7.7 1745 — - | =
14| 28.5] 35.1] 21.8] 75.6| 97.7/49.5| 11.4[SSE |18.1[SSE |SSE | 11.5] 21.34| — - | -
15] 26.2] 30.2] 24.1] 83.5| 95.9[62.6 10.6| SE |16.5|SSE | WNW ol 3.17] 51.5] — | —
16 24.6| 26.6| 21.8| 82.5] 90.7[72.6| 53 |WNW [10.9] W |WWH 6.8 13.23| 55| — | —
17] 23.8] 28.4] 19.6| 84.5] 95.1069.3] 3.1 Nw | 7.2 Nw | W | 87 19.51| 05| — | —
18] 23.5( 29.7] 18.0] 80.0] 96.6[53.3| 3.5 |wN\Ww | 6.5|WNW | N | 12.5] 23.65| — - | =
19] 23.3] 28.5] 19.3] 83.1| 94.6639.6| 3.3 |WNW | 7.6 NW | N\ | 9.6] 20.64 | — — | =
20| 23.3]°30.0] 17.8] 78.0| 96.3[55.4| 4.9 |ENE | 7.8 |[ENE |ENE | 11.8] 22.68 | — - | -
G142t 251.7 [307.0 [ 202.1 | 793.2 56. 1 94.2 [ 188.19 | 63.5
B 25.2] 30.7] 20.2] 79.3 5.6 18. 82
21| 23.4] 31.4] 17.5] 81.8[100.0[14.4| 4.5 |WNW | 7.4 |wNW | MW | 11.0] 21.63| — - | -
22 23.9] 29.6] 18.2] 89.2[100.0[68.8| 3.3 |WNW | 57 |WNW | NW 3.8 13.10] — - | =
23] 24.4] 29.4] 21.3] 90.1[100.0[57.4| 46| W |10.5|SSW | W\W 0.0 561 3L5] — | —
24| 20.8] 24.5] 16.0] 86.3[100.0[61.3| 2.6 |NNW | 6.2 |NNW | NW 5.8 1253 1.5 — | —
25] 19.7] 25.1] 14.3] 82.2[100.0]48. 1] 3.3 |WNW | 6.2 NW |WNW | 9.7] 19.85 - | -
26| 20.3] 26.9] 13.4| 81.0[100.0[49.3] 51[SSE | 7.4 |ENE | SE 8.1 17.59| — - | -
270 19.6 ] 23.1] 17.6] 81.7[100.0]59.2] 6.2| SE |12.8| SE |ESE 0] 803] 50 — | —
28| 19.8] 22.3] 16.7] 78.9[100.0[63.0| 8.4 |SSE |12.8 |SSE | SE 0] 4.3¢] 20] — | —
29| 22.6] 28.3] 17.5] 85.6]100.0]657] 3.0[ESE | 6.1] NW |WNW 5.6 1513 Lo| — | — |
30| 23.2] 29.6 | 17.4] 90.2[100.0]68.2] 3.9 [WNWw | 6.3 [WNH | NW | 10.2] 19.69| — - | -
31 23.6] 28.8] 19.9] 84.9]100.0/64.2| 59| SE | 8.8|ENE | SE 5.4 1436 — - | -
B4t 241.31299.0 [189.8 | 931.9 50. 8 5.6 | 151.9| 47.0
BRER 219 27.2] 17.3] 84.7 4.6 13. 81
H&2H 734.6 | 904.5 | 580. 3 | 2500. 8 156. 7 250. 3 | 545.48 | 118.5
H¥ 23.7] 29.2] 18.7] 80.7 5.1 17. 60
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=| w/s 16567 m/s [1640M6AR] (h) | MJ/m’ | (m) | (cm) | (cm)
1] 24.6] 31.8] 20.6| 84.4[100.055.1| 6.3| SE |12.5 | WSW | NW 6.6 17.15] 29.5] — | —
2| 21.8 ] 23.4] 20.2] 955[100.0[79.9] 3.7| NW | 87| N¥ | NW 0.0] 493] 19.0] — | =
3] 20.1] 24.6| 15.9] 83.7[100.0|64.5| 4.6 [WNW | 8.7 | NW |VWNW 8.1] 17.06| — — | =
41 21.5] 29.5] 13.6 | 81.2[100.0/49.7] 44| SE | 7.0 | W E 1.3 21.32] 55 — | =
5] 21.8] 26.7] 17.9] 88.1/100.0]59.9| 5.4 [WNW | 8.8 | WNW | WNW 9.7] 16.46 | — - | -
i 6| 21.5] 26.4| 17.7] 88.2]100.0/63.5] 2.4 |WNW | 5.0 | WNW |SSE 2.9 12.54] 0.5 = [ —
| 7] 19.0] 23.6] 15.4] 88.7/100.0]59.8| 5.9 |SSE | 8.1|SSE |SSE 4.8] 10.67] 25.5] — | —
81 19.2 25.7] 14.4| 82.4] 99.4]49.0] 41| SE | 56| SE |SSE 7.2 15.83] — - | -
9] 17.2] 19.7] 15.2| 98.3]100.0/87.5| 3.6 SE | 49| SE |fEME 0] 241 100] — | -
10 17.0] 19.2] 13.8| 87.3[100.0(61.9| 4.2 [WNW | 6.7 NW | NW | 10.2| 20.27| — R
f}A&EH 203.7 [ 250.6 | 164.7 | 877.8 44,6 60.8 | 138.64 | 90.0
BRER 20.4 | 25.1] 16.5| 87.8 4.5 13.86
11 18.9] 27.2] 13.5| 81.5]100.050.2| 3.2[SSE | 5.3 NW | § 11.9] 20.83] — — | =
121 19.1] 29.4] 10.7| 81.4[100.0/38.5| 3.7 [WNW | 7.6 |WNW | NW | I1L.7| 20.53| — - | =
13] 18.6 ] 23.1| 12.4| 82.1[100.0/59.0| 7.6 [SSE |12.7|SSE |SSE 0] 7.30] — — [ =
14] 20.6| 25.8] 17.8] 82.7/100.0[57.6] 65| S 110.3| S E 3.4 12.07] 50] - | —
15] 20.3] 25.7] 16.1] 87.6]100.0/61.3| 3.1 W 5.9 | WNK | WNW 58| 13.05] — - | -
16| 20.4] 27.9] 13.6| 85.7[100.0/61.0| 3.1 |[WNW | 5.9 NW | 10.4] 18.67] — — | -
17] 20.2] 25.5] 16.1] 86.6/100.0[61.3] 56| SE | 7.9| SE |SSE 0.7] 9.63] — — | =
18] 19.7] 24.8| 142 88.9[100.0]61.0] 2.9 |WNW | 50| NW | N 1.8 7.81] — - | =
19 21.0] 28.9] 14.6] 85.7/100.0[54.8] 4.2 |WNK | 6.6 | WNW | WNW 8.7] 15.93] — - | =
201 20.2 ] 24.5] 17.9] 96.0]100.0/73.8| 7.1 [SSE |10.3 | SSE |SSE 0] 851] 35| — | =
f1&EH 199.0 | 262.8 | 146.9 | 858. 2 47.0 54,4 [134.33 | 8.5
GF 19.9] 26.3] 14.7] 85.8 4,17 13.43
21 18.0 21.4] 13.9] 94.6]100.0]77.4| 3.6 |SSE | 5.2 |SSE |SSE 0| 4.43] 45| — | -
221 17.6 | 21.3 | 12.2] 92.0]100.0/73.7| 5.8 |ENE [10.5]| W |SSE 0] 3.31] 10.0] — | -
23] 19.9] 21.8| 16.9] 86.8] 99.5/75.0] 4.3 |WNW | 8.8 |WNK | W 28] 7.66] 65| — | —
24 177 23.7] 10.8] 81.0] 99.4|54.2] 3.8 |WNW | 6.7 |WNW | W 1.2 18.47] — — | -
250 16.7| 28.1| 9.0| 81.7[100.0|42.5] 2.4 |WNW | 4.0 | NNW | NNW 9.8 15.48] — - | -
26| 16.6] 23.4| 12.2] 89.8] 99.3|70.1| 6.1 |WNW | 9.8 | WNW | SSW 0] 3.8 90| — | -
270 165 20.4] 11.8] 76.9] 98.0/44.1| 49| W [1L.2] N¥ | W 4,71 10.41] 6.0 = | -
28 14.8| 21.4| 10.4| 84.0[100.0[52.5] 3.7 |WNW | 6.6 | NNW | SSE 9.8] 16.90| 6.5 — | —
29| 15.3] 23.7] 8.9| 84.6/100.046.1| 3.3 |WNW | 55| E | WNW 7.9 14.88] — - | =
30 | 15.7] 22.0 10.8| 89.2]100.059.9| 4.4[SSE | 5.9 S |SSE 0] 72/ — — | =
14t 167.8 [ 227.2 [ 116.9 | 860.6 42.3 46.2 1102.62 | 42.5
G 16.8] 22.7] 1L.7] 86.1 4.2 10. 26
H&35H 570.5 | 740. 6 | 428.5 | 2596. 6 133.9 161.4 | 375.59 | 141. 0
Sy 19.0] 24.7] 14.3] 86.6 4.5 12.52
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B | X B (C) [HXEE (%) 8K (B &L BfE) & | H B EE
o 54 54 g 54 = B B | B &A|% |8 H 3 = | &
= B | B gt 7K
|85 =4 & i) K NG| E M| ||| fE =5 2 K| N
H m/s [16/507] /s [1646A6507 (h) | M)/m’ | (mm) | (cm) | (cm)
1] 1711 234 12.2] 86.8[100.0[57.1] 4.3[SSE | 7.1 |NNW |SSE | 2.2| 8.24| — - | -
2] 17.5] 25.4] 9.1 82.3[100.0[39.9] 4 7|WwNW | 7.7 |WNW |[WNW | 8.9 15.85| — - | -
, 3] 18.7] 24.8] 14.1] 77.1] 95.0[49.8] 55| SE | 9.1 SE [SSE | 5.2 10.93| 0.5| — | —
4] 18.4] 24.1] 13.5| 83.0]100.0[50.4] 6.4 |wNW [10.9[SSW [SSW | 8.0 13.22] 9.5| — | —
,; 50 17.6] 239 12.9] 88.8]100.0/62.6] 5. 4[WNW | 9.3 [WNW | NW | 7.6 14.88 | — - | =
g 6| 17.4] 23.9] 10.5] 87.3[100.0|57.6| 3.3 |WNW | 55 |WNW | NW | 8.3| 13.41| — - | =
, 7] 16.9] 24.8] 14.5| 83.3] 96.2[46.3] 7.7 |wNw |14 7[WNW |[SSW | 0.0] 2.61] 25.5] — | —
8] 145] 17.9] 12.0] 82.3] 95.4[54.5] 21| W 4.2 w [wsw | 1.3] 6.17] — - | -
9] 15,0 20.2] 10.2| 73.3] 92.1[41.7] 50|wNW |10.2|SSW [WSW | 58] 871 65| — | —
10] 13.6 ] 19.0] 83| 74.2] 97.6[44.9] 4 7|wNW | 9.2 |wwW [ SE | 7.0] 1158 — - | =
f145H 166.7 | 227.4 [117.3 | 818.4 49,1 54.3]105.60 | 42.0
B 16.7 2271 11.7] 818 4.9 10. 56
11] 12.8] 211 5.6] 80.8[100.0[37.6] 3.2 |wnw | 5.7] NW [WNW [ 9.6] 1514 — - | =
12] 14.7] 216 7.9] 87.3]100.0[59.1] 41 S 730 Sw o [ww | L1 879] 25] — | -
13] 16.0] 21.5] 11.9| 88.4[100.0[59.7| 3.4|SSE | 51 |WNW |WNA | 6.9] 13.00] 40| — | —
4] 14.6] 209] 8.6 89.3[100.0[58.3] 2.0|wwk | 3.9 W [®mE | 27| 831 — - | -
15] 13.3] 19.6] 10.2| 92.8[100.0]62.6] 48] S [10.4] W |SSE | 1.3] 531| 4L5| — | —
16] 122 146 9.5] 71.9] 99.8[53.2] 7.1 |wNw [14.9 W | W 2.1 6.32] 1.0] = | -
17] 12.81 16.3] 9.0] 67.5] 92.7[49.3] 6.2 |wNw |16.4| W [ww |10.4] 1441] 1.0] — | —
18] 11.8] 19.3] 5.6] 90.1]100.0]48.4] 55| § 9.4 W S 0.8] 545] 95| — | -
19] 13.5] 17.4] 11.3] 92.0[100.0]72.4] 4.6 [SSE | 7.5 [WSW | W 2.4 599] 21.5] — | —
20 11.51] 14.3] 88| 72.6] 98.2[45.5| 4.8 |WNW | 89 |wwW | W | 2.2] 520 05| — | —
B)}45H 133.2 [ 186.6 | 88.4 | 832.7 45. 7 39.5| 87.92] 93.5
BPER 13.3 | 18.7| 8.8| 83.3 4.6 8.79
21] 10.0] 13.0] 6.0] 956/100.0/84.0] 48| SE | 6.0 SE |SSE | 0.4| 3.01| 65| — | —
221 10.0] 17.6 | 4.1] 81.8]100.0[44.4| 4.4[SSE | 6.0|SSE | S 9,5 13.53] — - | -
23] 11.2] 20.5] 3.3] 81.2]100.0/46.0] 44| SE | 7.8 | E SE | 9.7] 13.22] — - [ =
24 | 12.5] 22.8| 4.2| 82.1[100.0[39.4| 45| SE | 6.3 SE |WNW | 9.6] 12.32]| — - | -
25| 15.4] 24.7] 61| 80.4]100.0]41.2] 7.6 |wNW [12.5]wNW | NW | 7.4] 11.46] 50| — | —
26 | 11.5] 15.5] 6.4] 77.3] 99.1[49.0| 8 4 [WNW [16.9 | WNW | WNW 0] 1.28] 120] — | —
27 7.4 1L1] L.6] 7481 99.2[5L.5] 6.3 |wNw |11.9] NW | W\ 0] 299 15] — | —
28 | 10.4] 21.6| 0.4| 80.3]100.0[39.3] 7.1[SSE | 9.6 |SSE | S 9.2 13.02] — - | =
29 140 2.8 8.3] 83.8[100.0[44. 4] 3.8 [WNW | 7.0 W | W 6.8 10.02] — - | -
30| 14.5] 245 6.3] 80.4[100.0[36.8] 6.0 |wWwNW [10.0] W [wNW | 9.4] 12.12]| — - | =
31 11.9] 16.1] 85| 8L4] 97.0/65.4| 3.8 |wnw | 7.3|wN\w [WW | 0.5 457] 185] — | —
B145H 128.8 1209.2 | 55.2 | 899.1 61.1 62.5| 97.54| 43.5
B 1L7] 19.0] 5.0 817 5.6 8. 87
H&5H 428.7 [ 623.2 | 260. 9 | 2550. 2 155.9 72.5 | 115.69 | 179.0
A 13.8 1 20.1] 8.4| 82.3 5.0 3.73

AT E BT
FOR CPHY ) - B LOA RS




9 HR E = 99
E B X %2 A #H
19965 11H &R
Bl X @ (C) [MHMEE (% |[mAk (HIEA GE) = | H B E R
i/ I - 154 I & | = | A BB | B | % | B’ H 1 B | X
3 - B B & K
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H m/s 1640 n/s 16567165067 () | MJ/m’ | (mm) | (cm) | (cm)
1] 10.6] 12.7] 84| 98.3[100.0]91.4] 3.1] SE| 45 E| SE 0] 196] 180] — | —
2] 11.9] 13.5] 10.2] 96.6100.0 |86.4| 2.6 | WNW| 3.9 | WNW| WNW 0] 2.53] 2.0 — | =
3] 9.5] 15.8] 49| 84.9[100.0]550| 2.6 | WNW| 5.4 | ENE [#E® | 8.0 10.49| — — | -
4] 9.4] 185] 2.6| 83.5]/100.0(46. 0] 3.2] SE| 45| SE| NW| 7.5] 9.98| — - | =
5] 13.0] 19.6] 7.2] 862 97.4[57.7] 1L3 S|17.2| ssw S 0] Le8]| 40| — | —
6] 120 19.7] 54| 71..9] 90.4[47.9] 9.4 WNW[20.6| WNW| WNW| 0.7| 2.29| 45| — | -
71 7.7] 12.5] 49| 72.9] 93.7]47.2] 2.9 S| 6.3] NW| SSE| 3.2| 7.06] — — | =
8] 9.6] 16.8] 48] 82.4] 96.8[49.7| 2.0] SE| 3.7| NNE N| 25| 7.55] — - | - |
9] 12.5] 16.9| 8.8| 96.3]100.0 758 5.9 | WNW[11.0 | WNW | ZEER 0| 2.07] 38.0| — | — |
10] 14.0] 17.5] 9.7] 83.1] 975|616 55| WNW[12.1| WNW| WNW| 7.8 10.26| 80| — | —
f}45H 110.2 [ 163.5 | 66.9 | 856. 1 48.5 29.7| 55.87] T74.5
G 110 16.4] 6.7] 85.6 4.9 5. 59 |
11] 12.3] 185] 6.6] 83.5] 99.2]54.7]| 50| SSE| 7.5| SSE S| 40| 7.04] — — | = ‘
12| 82| 14.3] 44| 8.2] 99.6[63.4] 42| NW| 9.8] NW| NNW 0] 0.43] 145] — | = \
| 13] 3.7 49 220 71.3] 911489 7.0 WNW |15 1] WNW| NW| 0.5] 3.09] 3.0 — | —
’ 4] 7.6] 1L7] 3.0] 65.8| 87.2[37.7] 9.2 S|15.4 S S| 69] 9.7 55| — | =
15| 6.4] 85| 33| 67.4| 87.8[5L. 7] 7.4 WW/[16.6| NW| WNW 0] L26] 12.5] — | =
16| 58| 80| 36| 70.9] 85.1[53.5] 87| WNW|16.4| WNW| WNW| 0.7| 2.40| 80| — | —
17] 941 13.7] 4.2] 68.1] 92.6[36.4] 6.1 S|13.5] sw| ssw| 2.9] 571 19.5] — | =
18] 85| 10.5] 7.0] 84.1] 98.9[63.0] 4.8 W1[10.0 W Wl 0.1 2.28] 35.5] — | —
19] 66| 9.4 1.1] 69.4] 95.3]43.8] 7.6 | WNW|14.7| WNW| WNW| 0.6 2.55] 9.5| — | —
20 6.4 11.6] 1.0| 70.7] 87.9]40.8] 6.0| SE| 7.5]| SSE| SSE| 7.5 829| 0.5 — | —
AEH 749 1111 36.4] 737.4 66. 0 23.2 | 42.82]108.5
GPE 7.5] 1L1] 3.6| 73.7 6.6 4.28
21 9.0] 13.3] 3.0] 89.3]/100.0]59.8] 84| WNW|20.3 W| WNW| 3.5] 4.44] 20.5|] — | —
22| 75| 9.0| 56| 69.6| 84.9(53.7| 7.2 | WNW[14.2| WNW| WNW| 0.0| 1.84| 55| — | —
23] 6.7 9.4] 31| 69.6| 90.9|546| 6.0 WNW]|10.6| WNW| WNW| 0.2 | 4.09]| — — | =
241 89] 145 25| 80.1] 96.750.7| 4.3] SSW| 82| SSW| SSW| 6.1 | 7.53] 3.0 — | —
25| 85| 1.2 46| 71.9]100.0]53.2] 5.9 S| 9.9] SSw| wnw| 0.4] 2.66] 40| — | —
26| 58] 10.6| 0.9] 79.8] 93.5|5..5| 3.1| SSE| 47| SE| SSE| 2.2| 5.64| — - | -
27] 8.9] 15.3] 1.0] 83.0[100.0[65.3| 6.6 | WNW|13.4| WNW| WNW 0] n2]100] — | —
28] 6.8] 12.1] 3.4] 80.3] 94.1[56.3] 6.2 W[11.8| NW| WNW 0] 0.65] 120] — | —
291 2.1 45| 0.0] 980[100.0]90.0] 4.3 S| 83 W S| 00| 1.22] 640] — | —
30] 15| 37| -0.8] 84.8[100.0[5.6] 5.6 Wl10.8 | NW |, 0] 1.38] 23.0] 21 5
B1&EH 65.7 [ 103.6 | 23.3 ] 806.4 57.6 12.4] 30.65]142.0
By 6.0 9.4 2.1 733 5.2 2.79
H&2H 250. 8 [ 378.2 | 126.6 | 2399. 9 172.1 65.3 | 129.34 ] 325. 0
H¥E 8.1] 12.2] 41| 71.4 5. 6 4,17
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B K B OCOHMEEE (%) &~k (YK @GHE) % | H B g ®
M R B E & | = B | B | B | B | 2 B H | B | BR|®
3 B B | B | K

2|08 |5 | K ¥ K| /N | & | @B | #£ @ | @ | B | | & | K| /N
H m/s 1607 m/s 1650167407 (h) MJ/m’ | (mm) | (cm) | (cm)
1] 0.1] 44]-2.1] 88.4[98.9]62.0] 3.5]SSE M | 0.7[427] 2.5] — | —
20 0.1] 2.8/-3.5] 88.10100.0/52.2| 7.0 |WNW [12.6 |WNW |WSW | 0.1]2.15[46.0] — | —
3/ 0.8] 2.4[-0.8] 86.21[100.0|64.5] 4.9[SSW [10.5| W [SSW | 0.4[3.21] 6.0] — | —
4] 45] 9.4] 1.7] 85.61100.061.3] 6.6 |SSW |11.4|SSW |SSE | 2.7/406] 3.0 — | —
5| 7.1]13.6] 2.1 ] 96.1100.0/86.3] 7.3[SSW [16.7] W | SSW 0/1.25[36.5] — | —
6| 40| 7.8] 1.6] 70.3[94.5[5L.0] 80 |WNW [21.8 |WNW |WNW 0/L06[13.5] — | —
71 1.4] 3.9] 0.0] 91.400.0[76.8] 74/ S [10.1] S |SSE | 0.8[3.68]10.0 5| —
8] 28] 5.0] 0.3] 87.7]99.8|54.9] 6.4] S [11.8] S |SSWw | 1.8[4.09]25.0] — | —
9] 3.2] 53] 2.3] 93.8[100.0/84.6] 5.5 SW |11.7| SV |SSE | 0.83.40/10.5] — | —
10] 6.9[12.0] 3.1] 86.5[98.1[56.6] 6.9/ S [10.2] SW |SSE | 4 1[6.24] 40| — | —

1451 30.9[66.6 | 4.7 | 874.1 63.5 11.4[33.4157.0

BPEY 3.1 6.7] 0.5] 88.4 6. 4 3.30

11 7.8110.6] 5.1 85.3]97.0/70.6 | 7.1 W [16. 4] W SW | 1.1]249]17.0] — | —
12] 6.6 86| 49| 86.1[96.866.6| 6.5[SSW [13.3| W [sSSW | 0.9]2.20]19.5] — | —
13] 29 7.4[-1.4] 78.7[95.8[49.5| 2.4 N 51 N [WNW | 6.2]8.06 - | =
14| 49]12.5|-1.9| 84.0/97.8/52.3] 6.7 S |11.6|SSW |WNW | 3.6 [426] 7.5] — | —
15] 2.7] 9.4]-1.5| 80.8/95.5/50.0] 2.6 | S 40| N |SSE | 67]7.71| — | = | =
16| 2.4 [11.5]-2.7] 83.9/98.0[47.6] L8|[NNW | 3.3 |NWNW| MW | 7.6 (829 — | — | —
17] 3.9 7.3]-1.0] 94.2[99.8[80.5] 3.9[SSE | 5.8 NW |SSE 0]/2.00] 5.0] — | —
18] 5.3] 9.4 1.0] 90.010100.0]63.7| 5.5 |wNWw [11.3|wNw | NW | 0.1[167]32.0] — | —
19] 0.0 1.8]-2.5] 87.5[96.8[67.1] 6.5 |WNW |11.7 | NW |SSE 0/2.5011.5] 15| —
20] 0.4] 35[-25] 83.1/96.0/63.6| 7.0 |WNW |16.1| W S 0[2.48] 80] 19| 12

&5 36.9 182.0[-2.5 | 853.6 50. 0 26.2 | 41.7 [100.5

GBS 3.7 8.2]-0.3| 85.4 5.0 4.17

21 1.2] 3.5|-1.0] 92.9/98.7|76.4] 4.4 [WSW | 8.2 |WSW |SSE | 1.7[4.91]10.5] 12 4
22| 3.1[10.4]-1.8| 82.010100.0/450] 55|SSE | 8.3 |SSE |SSE 71870 5.5 6 1
23] 3.2 7.0] 0.5] 79.9]97.5|51.4] 9.3 |wWNW [19.3 | NW |WNW | 0.3]2.23]21.0 2| —
24| 6.3 9.5] 1.6| 62.7/85.5/48.0] 6.2 S [12.9|SSW | § 416.42] 1.o] — | —
25| 7.7010.3] 44| 77.2195.6[45.0] 6.9 |WNW [13.9 |wWNW |WNW | 0.2]0.92]20.0| — | —
26| 2.1 ] 4.4] 0.3] 55.6[74.9]43.3] 85 |WNW |17.4 |WNW | WNW ojLo7| — | = | =
271 2.2] 6.5[-2.2| 65.4[90.1[46.7] 5.6 |WwNW [11.8 |WwNW |[WNW [ 3.4[476] — | — | —
28] 40| 9.4[-1.7] 69.4[95.5[31.1[11.0 wWwNW [19.2 | WNW | WNW ojLi10f19.0] = | —
29| 50| 89| 26| 59.2]75.2]47.4] 6.3 |wNW [13.0] W |WNW | 0.4]262] — | — | —
30| 47] 9.5] 0.7] 740[91.5[53.3] 6.1 SW [11.3[SSW |NNW | 2.6 [4.87] 0.5 — | —
311 3.2] 9.7/ 0.4] 81.0/93.6/53.3] 3.6 SE | 44| SE | § 5.6 7.23] — | — | —

H&5H 41.5(85.6 | 4.8 706.4 69. 0 23.5[39.9]67.0

GPE4 3.8 7.8 0.4] 64.2 6.3 3.6

HA&SH109.3 P34.2 [ 7.0 [ 2434.1 182. 5 61.1 [115.0 B24. 5

H¥5 3.5 7.6] 0.2] 178.5 5.9 2.0 371
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